FRIFERLARLAEHERE (511 REMEEERRSR

B3 —1
Epk305£4 A1 B~Fk314E 3 A31H
RIERT4 e e
Kogmiks [N20TEE 500 (5o en (BLADT> [BLAD T
HETA & #B(N) BHHEN) BHHE(N)
BEHTEREMN 1,806 1,797 0 0 99.5 99.5
el 1,806 1,797 0 0 99.5 99.5
b A RER 90 100 0 0 1111 111.1
R HET 58 64 0 0 110.3 110.3
4 R ET 7 6 0 0 85.7 85.7
ZE@AF 15 15 0 0 100.0 100.0
5%+ BT 10 15 0 0 150.0 150.0
shRTER R 1,736 1,748 0 0 100.7 100.7
shETTH 1,120 1,160 0 0 103.6 103.6
2R 189 177 0 0 93.7 93.7
E)TH 173 170 0 0 98.3 98.3
75 B EH 11 9 0 0 81.8 81.8
e iy ET 70 66 0 0 94.3 94.3
KESHT 40 42 0 0 105.0 105.0
HEEEH 59 50 0 0 84.7 84.7
R HNET 74 74 0 0 100.0 100.0
I\FEH&REm 1,625 1,523 0 0 93.7 93.7
J\PTh 1,625 1,523 0 0 93.7 93.7
=R A RER 529 506 0 0 95.7 95.7
BULHEHT 194 195 0 0 100.5 100.5
= FH 50 45 0 0 90.0 90.0
R FHT 91 83 0 0 91.2 91.2
HFHT 17 17 0 0 100.0 100.0
FE BRET 91 83 0 0 91.2 91.2
B _E BT 74 71 0 0 95.9 95.9
AT 12 12 0 0 100.0 100.0
E AT R EFR 697 696 0 0 99.9 99.9
HFRIRET 314 321 0 0 102.2 102.2
DS 191 186 0 0 97.4 97.4
84 iR ET 49 40 0 0 81.6 81.6
ZRIHET 25 27 0 0 108.0 108.0
5 FH T 65 71 0 0 109.2 109.2
th ;R ET 53 51 0 0 96.2 96.2
LE+=FEF 1,179 1,093 0 0 92.7 92.7
+FBAH 368 331 0 0 89.9 89.9
=R 352 332 0 0 94.3 94.3
87100 th BT 63 65 0 0 103.2 103.2
asy=1:]] 77 79 0 0 102.6 102.6
AVl 98 68 0 0 69.4 69.4
P 17 17 0 0 100.0 100.0
5di) 130 128 0 0 98.5 98.5
7Ny AT 74 73 0 0 98.6 98.6
ODOBREAT 445 462 0 0 103.8 103.8
G Y] 371 385 0 0 103.8 103.8
yNEilil) 31 40 0 0 129.0 129.0
BoE A 32 27 0 0 84.4 84.4
R EHM 5 5 0 0 100.0 100.0
{EH4 6 5 0 0 83.3 83.3
&t 8,107 7,925 0 0 97.8 97.8
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EH3—2
Epk305£4 A1 B~Fk314E 3 A31H
RIERT4 e e
Kogmiks [N20TEE 500 (5o en (BLADT> [BLAD T
HETA & #B(N) BHHEN) BHHE(N)
BEHTEREMN 2,010 1,907 0 0 94.9 94.9
el 2,010 1,907 0 0 94.9 94.9
b A RER 110 108 0 0 98.2 98.2
R HET 57 55 0 0 96.5 96.5
4 R ET 8 8 0 0 100.0 100.0
ZE@AF 19 19 0 0 100.0 100.0
5%+ BT 26 26 0 0 100.0 100.0
shRTER R 1,878 1,817 0 0 96.8 96.8
BhEITTH 1,127 1,098 0 0 97.4 97.4
2R 237 231 0 0 97.5 97.5
ETH 224 215 0 0 96.0 96.0
75 B EH 12 12 0 0 100.0 100.0
g W3R FET 103 105 0 0 101.9 101.9
KESHT 38 34 0 0 89.5 89.5
HEEEH 66 51 0 0 77.3 77.3
R HNET 71 71 0 0 100.0 100.0
I\FEH&REm 1,738 1,673 0 0 96.3 96.3
J\F T 1,738 1,673 0 0 96.3 96.3
=R A RER 645 586 0 0 90.9 90.9
BULHEHT 238 232 0 0 97.5 97.5
= FH 58 59 0 0 101.7 101.7
R FHT 121 81 0 0 66.9 66.9
HFHT 24 24 0 0 100.0 100.0
FE BRET 100 93 0 0 93.0 93.0
B _E BT 92 85 0 0 92.4 92.4
AT 12 12 0 0 100.0 100.0
E AT R EFR 790 769 0 0 97.3 97.3
HFRIRET 378 369 0 0 97.6 97.6
DhSH 208 202 0 0 97.1 97.1
84 iR ET 46 46 0 0 100.0 100.0
R T 29 28 0 0 96.6 96.6
5 FH T 81 80 0 0 98.8 98.8
th ;R ET 48 44 0 0 91.7 91.7
LE+=FEF 1,305 1,219 0 0 93.4 93.4
+FBAH 440 429 0 0 97.5 97.5
=R 346 308 0 0 89.0 89.0
87100 th BT 90 90 0 0 100.0 100.0
asy=1:]] 91 85 0 0 93.4 93.4
AVl 104 90 0 0 86.5 86.5
1 JECHT 27 27 0 0 100.0 100.0
5di) 124 111 0 0 89.5 89.5
7Ny AT 83 79 0 0 95.2 95.2
ODOBREAT 544 533 0 0 98.0 98.0
G Y] 443 434 0 0 98.0 98.0
yNEilil) 38 38 0 0 100.0 100.0
BB 50 48 0 0 96.0 96.0
R EHM 7 7 0 0 100.0 100.0
{EH4 6 6 0 0 100.0 100.0
&t 9,020 8,612 0 0 95.5 95.5




